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21. I'ind the number which multiplied by itself wiil give § of
the difference between 10 duzen, and 2 dozen minus 2, Ans. 7,

10 x 12-(2 % 12-2)= 49; and 7 X 7T = 49,

0

~ 7 is the number requived.

22, If $2.50 bo gained on cloth sold at $22.50 ; what would bo
the gain por cent 7 Ans. 123 7,

1 £2.50 x 100

§I2.50~82.60

Solution.

The gain per cent. =

3000 — 121
. 2000, “2 [or .
23. If a buy in running a race can beat n second boy 20 feet in
50 yards, how often would the first boy go around a course 1000
feat in circumference in the time the second boy would go 10 times ?
Ang. 113 times.
In 1000 feet, the first boy would beat the sceond by

Solution,

Seintion,
1000 x 20 ft.

50 yd. x 3
=1333% ft. .. while the second boy would go around 10 times,
the first boy would go 10 x Y¥his = 113385 = 11} times.

24, If 50 yds of cloth be purchased at $1.15 per yd., which will
yield the greater profit, the sale of the whole at 3037 more than
the first cost ; or the sale of ¥ of the cloth at Hd % (profit) and the
remainder at fivst cost Aus. The second way of selling.

Solution. First cust of cloth = §1.15 x H0 yds. =&57.60.

Profit on first way of selling =857.50 x 30 - 100 = 817.25.
Profit on second . =% of §67.00 x 50 < 100=
83460411 - 20 = §18.971,

.. the second way of selling yicelds $1.72% more profit.

25, 1 pud §25.00 for carpeting at 81.25 per sq. ymd. If the
length of t..e tluor for whnch the carpet was mtended, was 19 feet,
what was its width?  Ans. 12 feet,

826.C0

Solution. No. of yds. of carpeting purchased =- S

Width of the flour =20aq. yde. X 98q. ft. +- 15 feet = 12 feet.
26. How many square teet, inch board measure, ave there in a
board 27 feet long, 12 inches wide and 2 inches thick at one end,
and 6 mches wide and 1 inch thick at the other end?
Ans, 107 sq. feet.
1st solution. No. of square feet in the board =
17 ft. x {12in. x 2in. + 630, x lin. + V(A2in x2 in. x6in. x 1 m)}
+3x12in.= 17 ft. x (24 5q. in. xGsq. in. x12sq. in) . 36 =
17 ft. x 42 sq. in. .
o = 19§ sq. ft.
21.d solution,

= 133} ft.; and 10 times going around, 10 x 133} ft.

=20 qs. yds.

No. of siuare feet in the board =
27 ft.x(12in. x6in.) 2 17 ft. xGin. 17 ft. xGin. _

12 in. 12inx2 ' T1¥inx2 T

128 + 475 + 218 = 19§ sq. ft.

27. Out of one square mle of land a farmer sold to A alot 50
rods long, and 20 rods wide, aud to B lot 200 yards long. and 484
fect wide ; what fraction of the whole had he leit 7 Ans, 1398,

30rd. X 20 vd, 200 yds. X 3{t. X484 1t,

160 ¢q. rd. 4 1. x40 1. X30} yd. 9 ft.) =
640 vc. — U} ac. & Ginc)=0640ac. =121 ac. =627, ae.
= the fraction of the wlmlc:z627-“"'=".‘---’2'—:)=150‘--J

) 640 5680 1536

28, If 7 1bs. of flour ave worth 10 lbs. of herring ; how much are
10 bbls. of herring worth, if the price of flour is §5.69 per bbL ?
Ans, 840

Solution. The price of 7 bbls.=35.60>7 Ibs. +196 1bs, =20 cts,

2. 10 bbls. herring=20c, X200 Jbs. X 10 bbls. =10 lbs, =840,

29. Which is the better investinent, to buy 500 bbls. of flour, at
£5.50 per bbl., and sell it at £5.70 during a period of 6 months, or
lend the money during that time at 77 mterest?  Aus. The former
is better by §3.75.

Solution, Cost of {lour =85 50 x 500 bbls. = §2,750.

Gain on flour=($§5. 7;)2— £5.89) x 500 bbls. =5100.
ram S TIOXT _ o0s e

Inter. st on 82,7560= 100% 2 845,25,

.. The former is better by $3.75.

30. In how many days will $500 awount to $225at 6% 7 Ans.
3043 days.

Solution.—

Intercat on $500 for 365 days at 6, = §5600 x 6+-100=830.
No. of d'ysreq’d:=($525 - $5C0)X 365d. - &30:8208';:;(’;”':3045(1.

Solution 610 ac —
[ 4

'30 X_’Lé Of—-’i‘.{-—

I
1 v

tie- o

81, Simplify. Ans. 2,

\ 16
Sol. Bxpres. =JfxidxIx A x i =Fxixh=8x}-}=2
32, ¥ G of o ton of hay cost £8.40, what will § of a cwt, cost ?

Solution, Cost of 1 ewt.=(88.40x 9)+6x20=8"63. Ans. 849,
. $63X7
and ¢ Vool = 8049, :

)

33. Out of n cask of moluases I sold te A L of the whole, to B 4,

to C J, and to D tho remamder, 30 gallons ; how many gallons did
the cask con}uin i Ans. 70 yallons,

Solution, Thowhole=1 > 4 x 3. x 0 gals, =% x 1L L 330 x gals,
=3 230 gala. 30 guls. = §— 4= and tho who\e,s
=14 2=70 guls,

34, 1f a perpendicular stick 6 feet high casts a shadow 10 feet
long ; how high is a tree that casts a shadow 80 feet 7 Ans, 48 feet.
Solution.  Height of tree=G feet x 80 fect <10 feet=48 feot.

35. Reduce 468752 to a commwa fraction inits lowest terms,

Ans. FriRss.

Solution. 468762=

465353 468706 234363
160 T 999900 499950
36. How many square yards are there in a path six feot wide,

surrounding a garden 150 feet long and 100 feet wide 2. Ans. 3493

square yards, -

Sol.  No. ofsq. yds. in tho path=(150 ft. x 2 x100 fr. x 2 x Gft. x 4).

x G ft. = 0 sq. ft. =(300 ft. x 200 ft. x 24 ft. '

524 ft. 3 6%t K1 ";_"L_LF_
lrd N Y e e o e - L0 ft,
7 it 0. ft.= Osq. ft. ‘_8_ Ga:lcl';.l
2948 =349} vq. yda. ) 2

37. A cask can be filled by a pipe in 2§ hows, and emptied by
another in 33 bours ; in what time can the cask be filled if both
pipes are kept running at the samo time?  Ane. 83 hours,

Solution.  The first pipe can fill 3;=%=14in 1 how.

The second pipe can empty iy 1¥ in 1 hour.
s the part of the cask filled=}1 - 2¢ =4 in one hour.
and the cask ean betilled in 3* =87 hours,

88. How mauy square feet of boards will encluse a field 30 rods
by 40 ruds, if the bvards be 9 inches wide, and the fence four
boards high, and what is the price of the lumberat £6 50 per 1000
feet ¢ Ans. Number of square feet required, 6,930 square feet, and
the price, $45,045. ’

Solution.—

Perimeter of the field in length=230rd., x 40rd x 2 x 164ft. =2310 ft.
No. of sq. feet requived=.2,310 ft. X 44+9 in.+12 in, = 6,930 sq. t.
Price of the lumber=6,930 £q. ft. X £6.50~-1,000 8q. ft. =845,045.

3. If T sell goods at £ of the first cost, and thereby loas § of an
English sovereign, what is the first coat of the goods 7 Ans, ‘$25.55,

Solution.— - .

The first cost of the goods=84.863 X I X i=2460x I x =825.55.

40. X 500 yards of cotton be sold fogr $:37.:";0? nndfth]crcT)yol&')‘z/
be gamed on the whole ; what would be the lirat cust of the cotton
per yard I Ans. 10 cents.

Solution. The first cost of the cotton per yard.

£07.50x100 50
- =10 cents,

o a came-a

={15%500yds &

An Eunglish examiner writes to the Pall Mall Guzette ;

I can vouch for the bonasfides of the following, which I have met
with during the Jast two or three years as examiner in the Cam-
bridge Local Examinations : *“ Pitt was a great statesman, Fox was
a ditto, ditto ; he wrote & very good book of martyrs, Pitt and
Fox both died a month after each other.” 2, *“The Gordian knot
was a very difficult knot which Nero tied, and by means of which
he kept the Empire of Rome in subjection,” ’

Here is a specimen of Japanese English borrowed from Mr.
Fauld’s ** Nine years in Nipon” :—¢ Notice. Shoe manufacturer
Design at any choice  Tho undersigned being engaged long and
succceded with their capacity at shoe factory of Isckuts in Tokio;
it is now established in my liability at undermentioned lot ali
furnishment will be attended m moderate term with goud quality.
An order 15 acceptable in veceice a post, being called wpon the measure
and it will be forwarded in furnish. U, Inoyn.” This will gerve as
an excrcise to be explained and paraphrased. :




